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QUESTION 1

View the exhibit. 

Based on the Object Utilization widget for a data center referenced in the exhibit, which statement is true? 

A. Distributed Resource Scheduler (DRS) is incorrectly configured in three of the clusters. 

B. The data center is running low on capacity. 

C. The data center has a number of hosts with hardware faults. 

D. The data center would benefit from a Rebalance Container action. 

Correct Answer: A 

 

QUESTION 2

vRealize Operations (out of the box) provides many ways to help with optimizing and improving utilization of resources
in the data center. Which two choices does vRealize Operations provide out of the box? (Choose two.) 

A. Custom Profiles such as "MonsterVM" 

B. Supermetrics such as "SM_AvgMemContention" 

C. Maintenance Schedules such as "SundayWeekly" 

D. Analysis badges such as "Reclaimable Capacity" and "Density" 

E. Reports such as "Idle VMs report" 

Correct Answer: DE 

 

QUESTION 3

Which is a true statement about creating new Alert Definitions? (Choose the best answer.) 

A. All Alert Definitions exist only in the alert policy 

B. Alert Definitions cannot be enabled or disabled in policies 
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C. When creating new Alert Definitions, they are enabled by default in the default policies 

D. After creating a new Alert Definition, it must be enabled in policies 

Correct Answer: A 

 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/6.7/com.vmware.vcom.core.doc/
GUID-4C8CAF1E-2B40-4D9C-A18C-2C18CC315B1A.html 

 

QUESTION 4

What are two vRealize Operations (vROps) cluster requirements? (Choose two.) 

A. All nodes must be in the same vSphere cluster but do NOT have to be in the same geographical location. 

B. All nodes must run the same vROps version. 

C. All nodes must collect from the same vCenter version. 

D. vApp and Linux deployed nodes must NOT be mixed in the same vROps cluster. 

Correct Answer: BD 

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-6/topic/com.vmware.vcom.core.doc/GUID35DC1E13-
8CCC-42FE-90A8-73A417DEE625.html https://pubs.vmware.com/vrealizeoperationsmanager-6/topic/com.vmware.vco
m.core.doc/GUID35DC1E13-8CCC-42FE-90A8-73A417DEE625.html 

 

QUESTION 5

Which Action is supported for automation? (Choose the best answer.) 

A. Rebalance Container 

B. Power Off VM 

C. Print Report 

D. Delete Snapshots 

Correct Answer: B 

Reference https://blogs.vmware.com/management/2016/07/david-davis-on-vrealize-operations-post-27automated-
remediation-in-vrops-6-x.html 
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